] 0, 125, 250, 375, 500, 625, 750, 875, 1000 ] ]
3 Graustufen: Schwarz N - WeiBW | - 5 Graustufen: Schwarz N — Mittelgrau U — WeiR W Ly =L/LN
L*tuBLog =tlog(L /Ly)

oder L.y=L/Ly
aneinander- L* —t] Y aneinander- Low =L /Ly
grenzende TusLoG = tlog(Y / Yy) grenzende

Muster =tlog(Y /Yy) + 50 Muster Lp =0

= tlog(Y / Yyy) + 100 NO4w NO8w NI2w W NS ochwarz
U = Grau

separate t=50/log(5) = 71,5338 separate W = WeiR
Muster Yn =4,Yy =20 Muster

P = Spitzenweil3
L*TuBLOG r = relative

L* TUBLOG YW = 100, Yp =500

gga00-7n_R, Prifmuster: 13x3 und 1x5 Farbstufen, exp0=1, expg=1, inw=1, xchart=0




